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O WEFEINHZA REH2 U Fpol=gy 25,845
- a2 35,7102 * 2% + 2602 8,570
- 549 35,7102 * 2% + 522 3,714
— eiRtag 35,7102 * 2% + 152 1,072
— N2elag
414790 * 2% « 25124 * 12 2,489
201 Yeregt| 70,503 70,503 0
01 At 22|t 68, 128 68, 128 0
SR 63,018
— HEEEIIA AS442
6,640%0 * 15,0002 * 50% 49,800
- HEFYIIA ZHEXS 2
5002 * 19,0002t * 50% 4,750
— SHEINE, ZHEIN, SFEN P
33,0002 * 102 A * 35 * 50% 495
— HEFSIIATA EH M
17,0002 * 68004 * 35% 4,046
— HEFIIA 28 BYSIS M
66,0002 * 43] * 11H4 * 50% 1,452

_2_




A MR
g KA =g 2t

2. BESAH € €EH4H M (¢t &
S EH . S(BH) - NEAY - B2 Ol AF o4 ﬁggf; HDE2
—jgFeg ZolneH £
198,000& * 55 * 5 * 50% 2,475
O HEFIHA HOI9IR5 22
70,000& * 11¥ * 43| * 50% 1,540
O Hgzeaesn 3z
7,000& * 5% x 17 x 6& 3,570
02 3524l 2,375 2,375 0
O Z2HSXNE s RER=
2502 * 19,0004 * 50% 2,375
202 044 2,500 2,500 0
01 2L 2,500 2,500 0
O MHE ==X | 2,500,000 2,500
405 KHAHFE S| 3,000 3,000 0
01 AL Z22EFHSHI 3,000 3,000 0
O Hge == 23 FSH| 3,000
— JhgEe 2 ZE 2
1,500,000& * 24 3,000
NeAhe &g 61,631 74,237 AN 12,606
N Mg 83+ 24 M1 44 /311 42 161 2,150
201 dEtEAH| 34,811 33, 161 1,650
01 At 22|l 26,836 25,396 1,440
O Let=2H]| 22,496
— KA Mg Hel &8 M
66,000& = 1104 726
— XNgA=g dAA Hold 2
3,600 * 200= 720
— XA Mg A BMADE(EY)
346,000& *~ 3 1,038
— KA Mg e MA4ADE(EH)
363,000& = 44 1,452
— XA ALY D SR AEH M
300& * 5,000& 1,500
— XIgtAl M (OCR E&8E)DXA 72
66,000 * 508FA 3,300
— XM S=(0CR 2&d) XA 2
66,000& * 508FA 3,300
— MEYXNHHSTHAINSL X 2M M S
3,000& = 400& 1,200
— HYX 23 EEMZ2 &42
2,000& = 500AH 1,000
— XA U8 MBS T 242
200,000,000 = 1.5% 3,000
— XA 22 sl =2
1,000,000 = 14! 1,000




SM: D
M XN 2 22

Sol TN = (=EREE))
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
— XA 25 ABIE FEI| A8 242
30,000& = 128 360
— JAAHIR 22 MHel =2
80& = 30,000AH 2,400
— SUHRIMHIA SMSHBR
50& = 30,000AH 1,500
O 2g89==% 840
- 3INF NN 28+Y
6 x 70,0003 * 23| 840
O Z &l 3,500
— XA Mg A S|
7,000& = 5% + 100 3,500
02 324l 7,975 7,765 210
O 2222 % HA 3,625
— =702, AR, HH, RDEERN
LRQERS(SII) 1,750& * 50004 875
— YESR0S, AR, HH, DEFRN
LE3(LLH) 2503 = 3,0000H 750
— ESHNR(LA) I SX
4,000& = 50021 2,000
O AME&EH Sl 4,350
— MY XEZI|(POA) SAE$
1,500,000& = 14/ 1,500
— JAHIRAIAE SAES
237,500& = 12& 2,850
202 (4 Hi 9,500 9,000 500
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